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38 2 £ g & = 38 2 8 & &8 #
» o= 2020 2019 ot n o= 2020 20194 .

) Off &t oH Off &t oH (‘;_‘:') gl (%) i Off &t oH Off & A (°_‘:') Bl (%)

st =2 (A) (B) = = (A) (B)
1.2YESo=20sd=RYUY 3,984,995 12,743,293 -8,758,298 71.9 | 1. SYEHSCZQSIEHSIREY 4,149,533 10,755,913 -6,606, 380 74.8
Natstg e oI YN 562,919 1,188,321 -625,402 10.2 1)ASHE 2SI RENH 339,723 533,985 -194,262 6.1
Q) XNAS A I RUNH 524,703 8,067,571 -7,542,868 9.5 2)NHASAMAIESREN 277,731 5,170,343 -4,892,612 5.0
32T =UHI UM 31,305 143,433 -112,128 0.6 UTHIMNGHI SIS REN 82,008 112,008 -30,000 1.5
4ELLINES I RUNH 234,805 704,805 -470,000 4.2 4)LEACHISH 2 R EN 2,759,620 2,917,526 -157,906 49.8
5)2gesosIa ey 2,631,263 2,639,163 =7,900 47.5 5)2ZAHISEH3IREN 240,451 822,051 -581,600 4.3
6)St NS HNESHSREN 450,000 1,200,000 -750,000 8.1
2. EXNESOR0ISHHZIRYNH 4,819 4,819 0 0.1 2. EXNESCZQEIEHIREN 260,020 2,798,017 -2,537,997 4.7
1) EXAFA=Q 4,803 4,803 0 0.1 1)EXXAK & 4 31,188 -31,184 0.0
2) S E RHArON2HTH 7 7 0 0.0 PARSE=DAFSINE 260,007 2,766,820 -2,506,813 4.7
3) & XHAHON 2 CH 3 3 0 0.0 J)REXAXIE 3 3 0 0.0
4)JEtHI R S XHaka=2 6 6 0 0.0 4)J|EHHI R S XA E 6 6 0 0.0
3. HFRESCZ2QISHEHZI RN 3 31,188 -31,185 0.0 | 3. MRESCZQSIEZREY 4,803 4,803 0 0.1
1)/l Xt 2 2 0 0.0 1) 2l A s 2 2 0 0.0
21239 xe 1 31,186 -31,185 0.0 2)J|l2=2l kst 4,801 4,801 0 0.1
4, J|=X32 1,555,432 2,304,552 -749,120 28.0 | 4. J1ZX2 1,130,893 1,525,119 -394,226 20.4
Al 5,545,249 15,083,852 - 9,538,603 100.0 Al 5,545,249 15,083,852 9,538,603 100.0
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&I 2019 3& 1L H 2020 23 29 NHAl
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o | s - 2020 2019 =2
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1 - - - i 1 0
14,000 - - - 14,000 16,000 ~2,000
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R Solz A uE DTAZZWEME | DITEHI =22
o | & s 2020 2019 2
i B 0fl & 24 (A) 0l &+24(B) (A-B)
5t el2tt] 10,000 - - - 10,000 960,110 ~950,110
Lt DEDE L) 1 - - - 1 202,916 ~202,915
Ch &=t 1 - - - 1 118,435 ~118,434
2 At 1 - - - 1 834,335 ~834,334
Oh JIE RS 2| 50,000 - - - 50,000 2,011,676 ~1,961.,676
(3K B AL 217,721 - - - 217,721 997,669 ~779,948
o, JIEFXI /S At 217,721 - - - 217,721 997,669 ~779,948
IATHIALH B SREY 82.008 - - - 82.008 112,008 ~30,000
(Derei x| 2 - - - 2 2 0
o o121t 1 - - - 1 1 0
PREESEEE RS 1 - - - 1 1 0
(e 2] 70,004 - - - 70,004 100,004 ~30,000
. olBBENRZE 1 - - - 1 1 0
Lt AR Esene 2y 50,000 - - - 50,000 80,000 ~30,000
C. et RO E B2l) 10,000 - - - 10,000 10,000 0
2. el R otz 10,000 - - - 10,000 10,000 0
O e R ERlE S| 1 - - - 1 1 0
LREESEELIE 1 - - - 1 1 0
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abstE e e So|2 A ME DITAE =T EMIE DITEI R =22
o | & = 2020 2019 =2
i - Ol AFOH(A) Ol AFOH(B) (A-B)
AL TSR RE =23 1 - - - 1 1 0
R E=E=I T 12,001 - - - 12,001 12,001 0
b 2t E S| 1 - - - 1 1 0
Lt RIATH AR S9- S = 12,000 - - - 12,000 12,000 0
(4)J1EHX 2] 1 - - - 1 1 0
JF. JIEFXI&HI 1 - - - 1 1 0
HYBIBRIHE2RE N 609,978 1,599,470 455,900 94,272 2,759,620 2,917,526 157,906
(srarelyl 609,978 895,800 354,960 75,922 1,936,660 2,118,016 -181,356
b QA 579,978 - - - 579,978 660,566 -80,588
Lt 20 - 737,600 304,000 49,000 1,090,600 1,090,600 0
Ch &3 - 60,200 15,960 2,002 78,382 148,382 ~70,000
ek Miag - 18,000 - - 18,000 18,768 -768
o E1= 30 - 80,000 35,000 4,700 119,700 119,700 0
B, 201214 2 04 el o - - - 20,000 20,000 20,000 0
A LBHRIZ I 30,000 - - - 30,000 60,000 -30,000
(2) 0K Bl 222l H] - 703,670 100,940 18,350 822,960 799,510 23,450
b = S| - 69,800 16,100 2,200 88,100 101,800 -18,700
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